log AY/Y)

log (t*) LABJNDuUS triangle lightness t*

o Yoc=Yw  nc=100,

t*LaBINDUS =[IN[(A 17+A20Y)V(A 20A0n)] (Ynd/100<Y<=Y, ()
t*(3.6)=146 1* ,(18)=332,t* (90)=517

‘

90, ¢=1,004

Rts 317, A,=0,0p58
36116, 11;* 3t 223718 4

t* 50_51,,21 el
2,2

application
range

1Y.=18
w36 TY=00

LABJINDu5
tristimulus value difference
Yoc=Yw - nc=100,

t*LaBaNDus =[IN[(A 1n+A2nV)/(A 2rA0n)] (Yne/100<Y<=Y,c)
dY=Agn(A1ntAznY)  A1,=0,017, A,=0,0058
Aonpes=L.5, Apn A=1,0, see CIE 230:2019
dYg=0,80, Ay=1,500, ¢=1,00
dY;5=0,18, A =0,017, A,-0,0058
dY3,=0,05 Y,=18 dY=\,18 o
t+,=332 dY,=0,18 dY/:u—O 4101 g
o’u
1
0 application
! range

1v,=18
YN=36  Yyw=90

LABJNDu5
_ tristimulus value sensitivity
SHEYY Yoc=Yw - nc=100,

L aBINDUs =IIN[(A 1n+A2)I(A 2nA0n)] (Yo 100<Y<=Y,0)
AYIY=Ag A1 +AZYVY
(dY/Yh=0 0uS2

(dY/Y)g=0,0201,
(dY/Y},=0,0154

log(dY/Y)=-1,99 n'\,——O B. Yanay faqﬁ)"ca“on
=332, dY,=0,18 dY,/Y,=0,01011 ge

1

1

1Y,=18

log (Y/AY)

YN=3.6  Yy=90

LABJINDu5
tristimulus value contrast

G=(Y/aY) Yo=Y - ne=100,

L aABINDUs =IIN[(A 1+ A2 (A 2nA0n)] (Y 100<Y<=Y,0)
YIAY=Y/[Agn(A1ntA2RY)]
(Y/dYp=111,31, A,=1,500, ¢=

1,
(Y/dY)§=98,84, A 20,017, A=0
(YIdY} =63 35 Y,118, d\=0.18

00
,0058

1 application
1 range
1y,=18

:I:P:-jt-:-:l: ———
=0y Y=20

log (t*/t* )

Iog(AY/AY )

log [AYY) I (AYIY),]

LABJNDUS relative triangle lightnesst*/t*,,
e, Yoc=Yw - nc=100,

t*LaBINDUs =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
t(3,6)=146 1 ,(18)=332,*/(90)=517

U u=1.85. Ax=1.500, ¢=1.00

{19 =100, Ar=0,017, £,=0,0058

3 gt*(=0,43,t,=332,23 Y1

log[t*/t* ,]=0, m,=0,33
1
1 application
f range
1y,=18
IM\=86 Yyw=90

LABJNDUS relative
tristimulus value difference

D7 Yoc=Yw - nc=100,
t*Laganpus =[IN[A 1n+A2nV)I(A 20A0n)] (Yo 100<Y<=Y, )
dY/dY,=AgnA 11+AanYI/dY,

dYeo/dY,=4,43, Ay=1,500, ¢=1,0

Y,¢/dY,=1.00, A =0,017, Az =0, 0
dY3 4dY,=0,31 Y,=18, d\=0,1

>
>
t*,=332, dY,=0. 18 dy, /! 1u—0 ./101 >

LABJNDUS relative
_ tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,
t*LaganDus =[IN[A 1n+A2nV)I(A 20A0n)] (Yno/100<Y<=Y, o)
(AY/YYAY Y =(ArtAg Y)Y (AY/Y),]

(dY/Ypo/(dY'Y)-C,28 A.=1,500, ¢=1,00

(dY/Y)g/(dY/Y,~1,00, A =0,017, A,=0,0058

(dY/Y} g(dY/Y)=1,2% Y.=18 dY=0,18

logl@Y/VY@YIYLJ=0, m=-0.13 1 —
t,=332 dY,=0,18 dY,/Y,=0,0101] ~ application

ange

log [(Y/AY) I (YAY),]

1y,=18
YN=36  Yw=90

LABJNDUS5 relative
tistimulus value contrast
CrlCry=(YIAV)(YIAY)y v 2y ™ 2100,
t* LaBINDUs =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
(YIAYY(YIAY)=(Y/YIAY))A oAt Ao (YIAY),

(Y/dYpo/(YIdY)=1,12, Ay=1,500, ¢=1,00
(Y/dY)g/(Y/dY)=1,00, A =0,017, A,=0,0058
(YIdY} ¢(Y/dY)=0,64 Y,=18 d\=0,18

application
range

1y,=18

Yy=90




